
3.1 o.{err^va

Io) \(") = \-zY?
'= -3\'(a

filo Yalua

iN o c*,'hr ca t

\n-\e.rat| 
---

t r-,t\l wvV..

6,^ - lr.s I

,?e 1t naSatrve-

t .f^^rlio^l

+h ?e,,,l.
1 uJ

5

t
1-w ,P\

Jesrcal,
Y

t3) -Gy

y' = 2x -tv
O = 2x-U
C=)x
3 = /. Cn'htat PlelrnL:er

(--, 3) 0

q

[.]arro \. Td,

6screori^|

-- ) lO inuosi"Y

lq\ Y = x

+
2-

o)t ]

[^]zrvols Aa h
J'= -b <o

C*ct ,io^

@
inOrtarinl

ivrurtasi".cU

[-*,0) U[o,o\

-

lac
+

t

Q-

Y

'lg

(-*' o)

(0, oD)

Y is

&su-l'tn..

tnLrrah'^1

al xrO
Y

0

x

x

)-
3

I

3

[-,)'" =fr-,)1'"XrO

+l
-r lt

-z/, jx

C,n'ticol n.^,-rte.

"l>

-l



3\ *(*"0'il-'

+I [^l -'

I (*t =

X

a rl
X

*rr (*'- q)

(*'+ .1)-' * X

* L[x2,'r)-' (")

?,(Y'n') 
-'

2 y,' t{ -r
:..)

( x
?* q) L

.----..-
Ctw\u't"

&rrea*
irnCraar

f,ecreare

lncres\a

lncreay*

lncrg62z-

t)l'[
t-

t +Ll

0 r,[^r^ 4,- v- = C lnt,rno\, Tu

( ,ia
J- ( 2 *r) -\

O

3

0 (-or, -2)

(a, ))
(2, o)

Si+^
1-Y-

+

?x7A [(.\ =

t '(') =

tt \ -l
z(tt, -*') + [-,f rL -y z) -' (-2"[ [:")

16-x1

2

"" 
(tb -x') -'

4u ^
')L

(tb -x

+

\nlt*

lb-Y (tu -Y'\
16 -xa) + Ll x'

,) ,

2lx2 + l0)
(-dr, -'{)
(-*4 , q)

{q, oa

z(
\ TUL

-5
I$.
+
+
+

0

tr(tt, nx'

r onhnui\ a{ x +Ll

2( x'u lo) = O
Can v\(.vtr ; Ol,

l

J

)

*q)x(



)
(^
J

{-v x1O
x>OAx

2t x<o

$sio h',nr^;\

Con r.t*t o....

\n c troiidL
U

De rnroli^.

,I'>co^ h 
",i,l,ft1

)

q

r
Y

v

o)

Y1
n{

Nlr

() Ctl Y, O

x>0

a?^

2>o
-2'o

{at

J0r o0)


